Diagram and Notes about the profit maximizing
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1. Demand = Marginal Benefit &R = i#fFI#E (D =MB)

= Total Benefit for (n) unit - Total Benefit for (n-1) unit
(n) EBfIRV4EF & - (n-1) BBAIRV4EF &=

Maximum amount willing to pay for an extra unit of good
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When you get more of the good, maximum amount that you are
willing to pay for an extra unit of a good will decrease
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2. Supply = Marginal Cost {ifE = i2ER 2~ (S =MC)

= Total Variable Cost for (n) unit - Total Variable Cost for (n-1) unit
(n) BAIRVAREIEERYZS - (n-1) BIRVAR AT & RR AN

Minimum amount required to receive in order to produce an extra unit

of good 4 ELRIN—EEMYmFRENRIEMZA

When you produce more of the good, minimum amount required to
produce an extra unit of a good will increase
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